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B AF I T T — A T A
LVxvy((p(y,x) Vq(y,x)) = 1(y,x))
2.VxVy(Az(r(y,z) Ar(z,x)) = r(y,x))
3.p(a,b) ANq(b,c)
4.r(a,c)
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* XA, dep(y, x)Fq(y, x).



— M 1% %% (First-Order Logic) 2 1% 18 i %% (Predicate Logic):
1.1% 3 3K 42 79)
° V’/\’ _), (_)’
2/ MR =
e a: /b o
3T &
o x ¥ VA B (a), AL e T VA4 (D).
4. K 3%(Domain of Discourse):
° lér%é }ﬂD%ﬁ:o
« AxAyAz (x3 + y> = 23) 45 R R 69 AR (IR B R Aw B 5K 4L
Z AR,



5.78 18] (Predicates, &~ il L& X &)
¢ S(x):x A KF 4,
« S(?): - RKF A,
* Q(a,b): ) H(a)EHKR4(b).
¢ Q(2,7): - EK e
* G(a,b,c): LAz T AL A=) M Z 4],
¢« G(2,7,7): Az T om0
¢« TN IR K ZP(xy, Xy, 0, Xy ) 09I
1B AR AT iE 1]



6.5 24 2, o 7]
* f(x,y,2) =x*+y%*—z2
o A F iR A, 4P (f(x,y,2),0).
7.= 18] (Quantifier)
° V, d.
8.5 33, S AF F 3 (Scope)
* Vx(P(x) —» 3yQ(x,y,z)) N R(x).
* Vx(P(x,y) AQ(y)) = IYR(x, y).
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o« “FT R ARRAB" TS XA ey AL T AT 5
. AVx(A(x) = B(x)).
o “H—AR B XM E S
WATx(A(x) A B(x)).
18 18] o K5

Vx(—=3yp(x,y) V ~3yp(y, x)).
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WP (xq1, X5, , X ) AR A BT 1B 382 K.

4R, B = 08F, R -F I8 18/ K P (xq, X, =+, Xy ) FLA
P, 3t i &9 )R 538 18 X T AFAE0L 1R 79 .

B AR X ) = 18 e 1 4 3K 2805 R T 18 18] s X
B 25 28 pR 89 18 18] 0 o

FP(x,y,z):x +y> =23, P(x,y,2) R TIEFAANK,
m3x3Ay3Az P(x,y,z) & B A1 35/ Ko
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75 XA A
l.aarg::=xx €V
2arg::=a a €A
3.arg list::=arg
4.arg list::=arg, arg list
S5.atomicwff::=p(arglist), pe P, n=>1
6.wff::=atomicwff
Twffii==wff
BWffii=wff o wff, o VAT -
Owffi:=Vxwff, xeV
10wffi:=3xwff, xeV



T % 5% & (Bound) . = 4= A # (Free) X & F #,

HEVYP(x, V)P xZ BT E,y2HhRET =,

EVXVy(P(x) = Q(x, f(¥),2)F, xAny R AR L&, zR H
2 R

ZER(x) > VxT(x) T xR AHEEARNR L E, A7
AW, B —PMxA BT, H N x2ARET=F,

KA BW T Eeg—Ur i X AR —MriZ 345 ) (First-

Order Sentence).,



